5\#8 / External

View

BMAZ / Components [ x®&2 : TY-34)2008.02.08
No. Z# / Part name BE / Pcs B / Material - REWHE / Color- Finish
1 by THN—= / Top cover 1 AUn-8"%-p / Polycarbonate |3/M°b- / Light gray
2 |RT 4 — 1 N YD =N 32T74\" - I4NT b=
Base Glass fiber filled Light gray
polycarbonate
3 Ay b / Gasket 1 Y73y / Polyurethane 73v7 / Black
L |Zv F / Latch 3 A7YbA / Stainless steel O3B / Unfinished
5 [Effx—ZAAKA(MS x 10) 6 % ={@70x-h
Screw(M5 - 10) Steel Trivalent chromate
6 |FMERERFT & 6 ATYLR 38
Mounting bracket Stainless steel Unfinished
T WAL A(MS x 10) 6 £k = f@io0x-K
Screw(M5 - 10) Steel Trivalent chromate
8 |# / Key 2 REbw 5 / Brass ZvY1h¥vt / Nickel plated
F7-hWF—% / Technical Data
730 255 2 REZMR / Protection class IP65
007 35 EFRE®EE / Operating temperature | -20C ~ +75C
626 WEEME 75 2/ Flammability class UL94V-0
156.5 156.5 156.5 156.5
ﬂ JLIL LI H_ll _fg I%!1ﬁ|l%:nn|n||!ﬂ|_|||||||||||||||||||||I||:!1T:|I:|'||||||||||||||||||||_||ﬂ_||||||||||I|:|I|1I_Ir!%'\
] gﬁfo_o_o? 0600000 L 000000 'Fo_o_o‘ﬂg
o~ §|8 8|§
= =1 =
o = =
= D q|=
=, © ol
ol N R M S ol
mie|y < L . = EEE%?;
= = 15 =
= 1D | =
N =[ps oI5
- = 153 3=
— =[5 dl=
=|| € 9=
s E \ i He®ooe|lleccccs g coveoslooeyH
- . %U%U% L7
6-M5474-~yh
6-M5 Insert nut
L
L7.6
® e
gl
LN LN
=) .
N~ X ’ 2% /Title N —
o HRARU I D FERIX B K B EE R A B B RN UI-K2-0T 37973 O L
TARACHIELECTRONICS ENCLOSURE Co., LTD. IP65 POLYCARBONATE PLASTIC BOX with LOCK
6-M547H-hFyh KR /Approved | IRE /Checked | #E/Created |F% /Product number RE/Scale‘l.S
6-M5 Insert nut N BCPK507025S
B PiR 172
{ER B /Date 2018/09/12




[ x®&= : TY-34)2008.02.08

RfR / Internal View

T 14— (H%R) h—(AR)
Base (Internal View) Cover (Internal View)
2 255 730
= 2 =
@) Q O
3 @ ® @ © @ E
LN
—
-
=
5 © o el =
) . >
] m o [ § Z
5 ® © g jj\ﬂ
+
=
lun
& © @ © &
(&) o
=5 7 - 7 L= \
6-M548-hFoh SRUEVR AL

6-M5 Insert nut

6-M5 Insert nut

D
m
[@N]
E
O
>
m
>
~
al N _ 2% /Title —
s [kacH] HRAXMIHFERIX | gy pEadERRs 7w | O T
¥ i . TARACHIELECTRONICS ENCLOSURE Co. LTD. IP65 POLYCARBONATE PLASTIC BOX with LOCK
T , E%T%/Max dim. 676.2 KR /Approved | IRE /Checked | #E/Created |F% /Product number RE/ScaleTa
. BCPK507025S :
= iR 2/ 2
fERX B /Date 2018/09/12




	BCPK507025 Model (1)
	BCPK507025 Model (2)

